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	GOFI
	Cut of Value
	Value
	Result

	Chi-Square (χ2)
	-
	477.882
	

	GFI
	≥ 0.90
	0.85
	

	RMSEA
	≤ 0.08
	0.08
	

	Standardized RMR
	≤ 0.05
	0.05
	

	AGFI
	≥ 0.90
	0.08
	

	CFI
	≥ 0.90
	0.98
	

	TLI/NNFI
	≥ 0.90
	0.97
	

	NFI
	≥ 0.90
	0.96
	

	RFI
	≥ 0.90
	0.95
	

	IFI
	≥ 0.90
	0.98
	

	PNFI
	0 – 1
	0.74
	

	PGFI
	0 – 1
	0.6
	

	Normed Chi-Square
	1.0 – 3.0
	2.4
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	GOFI
	Cut of Value
	Value
	Result

	Chi-Square (χ2)
	-
	554.393
	

	GFI
	≥ 0.90
	0.84
	

	RMSEA
	≤ 0.08
	0.07
	

	Standardized RMR
	≤ 0.05
	0.05
	

	AGFI
	≥ 0.90
	0.80
	

	CFI
	≥ 0.90
	0.97
	

	TLI/NNFI
	≥ 0.90
	0.97
	

	NFI
	≥ 0.90
	0.95
	

	RFI
	≥ 0.90
	0.95
	

	IFI
	≥ 0.90
	0.97
	

	PNFI
	0 – 1
	0.8
	

	PGFI
	0 – 1
	0.6
	

	Normed Chi-Square
	1.0 – 3.0
	2.6
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	GOFI
	Cut of Value
	Value
	Result

	Chi-Square (χ2)
	-
	91.92
	

	GFI
	≥ 0.90
	0.95
	

	RMSEA
	≤ 0.08
	0.07
	

	Standardized RMR
	≤ 0.05
	0.04
	

	AGFI
	≥ 0.90
	0.87
	

	CFI
	≥ 0.90
	0.99
	

	TLI/NNFI
	≥ 0.90
	0.98
	

	NFI
	≥ 0.90
	0.98
	

	RFI
	≥ 0.90
	0.97
	

	IFI
	≥ 0.90
	0.99
	

	PNFI
	0 – 1
	0.5
	

	PGFI
	0 – 1
	0.4
	

	Normed Chi-Square
	1.0 – 3.0
	2.5
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	GOFI
	Cut of Value
	Value
	Result

	Chi-Square (χ2)
	-
	568.70
	

	GFI
	≥ 0.90
	0.84
	

	RMSEA
	≤ 0.08
	0.07
	

	Standardized RMR
	≤ 0.05
	0.05
	

	AGFI
	≥ 0.90
	0.80
	

	CFI
	≥ 0.90
	0.97
	

	TLI/NNFI
	≥ 0.90
	0.97
	

	NFI
	≥ 0.90
	0.96
	

	RFI
	≥ 0.90
	0.95
	

	IFI
	≥ 0.90
	0.97
	

	PNFI
	0 – 1
	0.8
	

	PGFI
	0 – 1
	0.7
	

	Normed Chi-Square
	1.0 – 3.0
	2.5
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